
R1
100

R2
100

R5
2k2

R6
2k2

C1

100µ R71
330

R14
3k3

Q5
MJE340

2SK389

J1

2SK389

J2

2SC3381

Q6

2SC3381

Q7

R72
330

R13
3k3

C2

100µ

Q8
MJE350

R8
2k2

R7
2k2

R3
100

R4
100

J3

2SJ109

J4

2SJ109

Q13

2SA1349

Q14

2SA1349

P2
10

C7

6n8

R20
100

C8

6n8

R19
100

R17

1k5

R21

24k

C4

4p7

R23

1k5

AC 0 0

SINE(0 0.5 {freq} 0 0 0)

V5
C9

2.2µ

R15

1.5k

R16
47k

C10

470p

D7
BZX84C15L

D10
BZX84C15L

R57
0.22

55

Rser=10m Cpar=0.044

V1

55

Rser=10m Cpar=0.044
V4

C5
1000µ

1000µ
C6

0.1µ
C11

C12
0.1µ

C13
0.1µ

R69

3
R68
10

C14
0.022µ

L1 2µ

R70
8

C15

1µ

R9
100

R10
100

R12
100

R11
100

C16

4p7

R22

22k

10p
C17

D27

D1N4004

D28

D1N4004

P1
0.01

R73
22

RED_LED
D3

RED_LED

D4

RED_LED

D5

RED_LED

D6

Q18
2sc2922

Q19
2sa1216

R36

22k

Q17
2sc2922

R40

0.22

Q20
2sc2922

R43

0.22

Q21
2sc2922

R50
0.22

Q22
2sa1216

R53
0.22

Q23
2sa1216

R59
0.22

Q24
2sa1216

R63
10

R64
10

R65
10

R66
10

R38
10

R61
10

R62
10

R67
10

Q25
2sc2922

R76
10

R78
0.22

Q26
2sa1216

R80
10

R25
220

R26
220

2sc1775

Q1

2sc1775

Q2

R27
220

R28
220

Q3
2sa872a

Q4
2sa872a

Q9
MJE350

Q10
MJE340

R33
22

R34
22

R81
22

R82
22

R83
68

R84
68

C21

560p

C22

560p

R90
33

Q27
MJE350

R29
2k7

R32
1

P3
530

C3

1µ

R35
13

CLASS-A
1200

bob216

M2

bob79

M4

R87
220

Q11
2SA1209

2SC2911

Q12

R89
220

R18

0.22

R24

0.22

R37

0.22

V3
AC 1

R30
220

R31
220

RED_LED
D1

RED_LED

D2

RED_LED

D8

RED_LED

D9

C18

100µ

C19

100µ

R39
3k3

R41
3k3

C20

18p

C23

18p

Out

b a

.options plotwinsize=0

.options numdgt=7

.param Freq=1kHz

.param numcyc=10

.param dlycyc=2

.param FFT=65536

.param simtime=(dlycyc+numcyc)/Freq

.param dlytime=dlycyc/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)

.four {Freq} V(out)

.tran 0 {simtime} {dlytime} {numsampl}

;param Vin=0/15

;noise V(out) V5 dec 100 .1 1000meg
;ac dec 30 1 100meg

2 capacitors between B and C from drivers aren't necesary for sure, 

NFB also taken after VAS, for frequency's above 15kHz (Leach).
Not after the emitter followers. They can have global feedback, 

Pot P1 (200R)
DC-offset

Pot P2 (50R)
Bias IPS

Signal - or GND

Signal +

Put two fuses (15AT) in the power supply lines to the output stage.

Power ground en signal ground van elkaar gescheiden houden op de print.


